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Corrigé de l’exercice 1

Compléter :

I1.
7616

1 000
= 7,616

I2.
5 750

100
= 57,5

I3.
8478

100
= 84,78

I4.
58220

100
= 582,2

I5.
82 500

10000
= 8,25

I6.
5646

1 000
= 5,646

Corrigé de l’exercice 2

Compléter :

I1.
6 298

1000
= 6,298

I2.
23360

100
= 233,6

I3.
92750

10 000
= 9,275

I4.
6 312

1000
= 6,312

I5.
6331

100
= 63,31

I6.
82 570

100
= 825,7

Corrigé de l’exercice 3

Compléter :

I1.
20 580

100
= 205,8

I2.
1188

100
= 11,88

I3.
1 080

1000
= 1,08

I4.
7 432

10
= 743,2

I5.
35 000

10 000
= 3,5

I6.
2056

10
= 205,6

Corrigé de l’exercice 4

Compléter :

I1.
33760

1 000
= 33,76

I2.
13 930

10 000
= 1,393

I3.
56 900

100
= 569

I4.
78 720

100
= 787,2

I5.
6989

1 000
= 6,989

I6.
3 630

1 000
= 3,63

Corrigé de l’exercice 5

Compléter :

I1.
5468

10
= 546,8

I2.
999

100
= 9,99

I3.
69 950

1 000
= 69,95

I4.
5 598

10
= 559,8

I5.
3830

10
= 383

I6.
662

1000
= 0,662

Corrigé de l’exercice 6

Compléter :

I1.
375

100
= 3,75

I2.
10910

1 000
= 10,91

I3.
369

1 000
= 0,369

I4.
5 401

100
= 54,01

I5.
45 950

10 000
= 4,595

I6.
7940

100
= 79,4
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